Die Pirc Die!

1. e4 d6 

Garry Kasparov annotating his 1999 game vs. Veselin Topalov:

I was sincerely surprised. Pirc Ufirmsev Defense is not a usual one for Topalov, and this opening is hardly worth using in the tournaments of the highest category. White has too many opportunities for anybody's liking: one can lead to an acute or position game. 

2. d4 Nf6 3. Nc3 g6 

At this point white can choose a variety of setup's such as: 

· The Austrian attack (4.f4) 

· The 150 attack (4.f3 with the plan of Be3 Qd2 and 0-0-0 

· The Classical (4.Nf3 Be2 and 0-0) 

· The Classical II aka: Spassky system (4.Nf3 Be3 and h3) 

We choose the Classical II system for reasons we will discuss below. 

4. Nf3 Bg7 
 

5. Be3 

The classical II system, as it is called in The Pirc Defense by Alexander Chernin, and in Pirc Alert! by Lev Alburt and Alexander Chernin, is characterized by white putting his bishop on e3 and pawn on h3. Both of these moves have one thing in common, they add more support, either directly or indirectly, to the d4 square. Putting the bishop on e3 needs little explanation as it protects d4, and also makes it difficult for black to break with c5. The pawn on h3 prevents black from developing his bishop to g4, which would pin a defender of d4. It also prevents Ng4, which can attack the bishop on e3 and also support the advance of e5. 

The order in which you play these moves is a matter of preference. For example, if you play 5.h3, then black can play c5 without obtaining as much a disadvantage as if the bishop were on e3. After 5...c5 the optimal moves for both sides are probably 6.dxc5 Qa5 7.Bd3 Qxc5 8.0-0 0-0 9.Be3 Qa5, and here white has a space and development advantage, but black has no weaknesses, so it's questionable whether white can force any more advantage from the position. 

Instead of 5.h3, we recommend 5.Be3 which lets white win at least a pawn if black plays c5 ( 5...c5 6.dxc5 Qa5 7.Qd3 dxc5 8.Qb5+ QxQ 9.BxQ+ Bd7 10.Bxc5) or play for an attack (... 7.Qd2 dxc5 8.e5). 

If black wants to try and take advantage of 5.Be3 there is a better way than c5; that is 5...c6. After 6.a4 Ng4 7.Bg5 h6 8.Bc1 e5 9.d5 we feel that black has some long term weaknesses on both sides of the board. However this is a rare variation in the Pirc so we save analyzing it until it is played more. 

Whether you play 5.Be3 or 5.h3 will probably mean little difference in an actual game because black usually castles on either move. However you should look at both moves and decide which best suits your style. 

5...0-0 

In our experience delaying castling will almost always transpose into the variations we will discuss below. Although it is not compulsory to castle, we have not found any strategies that can gain an advantage or equalize based on not castling. Moreover since it is relatively rare, we will not analyze it until there is some serious support for it. 

6.h3

The contention of these web-pages, as you can see in the preface, is that the Pirc defense gives black an inferior position if white plays with the system we discuss here. As anyone with a little mathematical sense can see, since the game is only 5 moves deep, there are an almost uncountable number of ways in which the game can transpire from the above position, making it impossible to definitively prove our contention that the Pirc defense is refuted. However we have chosen to analyze all of the known recommendations for black from this position (from ECO, NCO, MCO and other books) along with some un-played and never before analyzed positions in an attempt to find the truth about the soundness of the Pirc defense. 

From the above position, black usually chooses, or is recommended to play one of the seven(!) moves listed below. 

6...a6 

6...b6 

6...c6 

6...d5 

6...Na6 

6...Nc6 

6...e5
Pirc Defense 6...a6 

1.e4 d6 2.d4 Nf6 3.Nc3 g6 4.Nf3 Bg7 5.Be3 0-0 6.h3 a6

According to the Chessbase online database, this position has occurred in 96 games. Of those games, 26 were won by white, 34 were drawn, and 36 were won by black. This is also a mainline in both MCO and NCO. 

7.a4 

This stops black from playing b5, which would indirectly pressure e4. Now black usually chooses or is recommended to play: 

7...d5 

7...b6 

7...Nc6 

Pirc Defense 6...a6

1.e4 d6 2.d4 Nf6 3.Nc3 g6 4.Nf3 Bg7 5.Be3 0-0 6.h3 a6 7.a4 d5 

Out of the 96 games this position has only occurred 3 times. Nonetheless it is the recommended way to meet our system, according to the 2001 book Pirc Alert! by Lev Alburt and Alexander Chernin. 

8.e5 Ne4 

White now has a choice of whether to capture the black knight on e4 and try to win the e4 pawn, or to play for an attack with Bd3. 

If white chooses to try to win the pawn with Nxe4 then after dxe4 Ng5 c5 c3 Qd5 Chernin and Alburt assess the position at least equal for black. However after dxc5 Qxe5 Bc4 as in David Gill vs V Eugen IECC 2001, black is going to lose the e4-pawn and it is not clear whether he has enough compensation for it. You can see the game annotated at: 

http://ccn.correspondencechess.com/pdf/ccnews58.pdf 

Note that even after the game's recommended improvement of 14...Bf5 after g4 Bd7 Qxe4 Qxe4 Nxe4 Ne5 Bd5 white still has a lasting advantage. 

Although white almost certainly has an advantage after Nxe4 we choose Bd3 because it aims for a bigger advantage than a pawn, and as we will see often the game can end within the next 10 or 15 moves. 

9.Bd3 

Grandmaster Chernin and Alburt have this to say about the above position:

Although It's hard to evaluate the line Bd3 Nxc3 bxc3 c5 Qd2 Nc6 0-0 c4 Be2 f6, the permanent defect of the doubled pawns on c2 and c3 gives white little chance to succeed.
Black does not have to exchange knights on c3, for example he could play Bf5 or f5. After f5 white can take advantage of the somewhat exposed kingside by playing ne2. If black plays Bf5 then white should castle. For example if black plays Nxc3 bxc3 the doubled pawns will be an advantage in the middle game for white because they cannot be easily attacked and they make challenging white's center difficult. 

The reason that castling gives white and advantage after Bf5 but not after 9..Nxc3 10.bxc3 c5 is because black has not developed his bishop. The f5-square is not a location where black can support the bishop for many moves. Thus he must lose time by eventually retreating it or capturing white's bishop on d3 which would improve white's pawn structure and help him develop. 

9...Nxc3 10.bxc3 c5 

The move Chernin and Alburt analyze for white in the above position, Qd2, shows they don't understand (or are too lazy to analyze) how to attack the black king from this type of position. 

In order to generate threats against the black king, white needs to open the h-file. Of course black knows this and will try hard to keep it closed by playing h5, so then white will have to play g4 in order open it. If the queen is on d2, then it will be much harder for white to force the file open because black will have more influence over the g4 square. Thus white needs to keep the queen on d1 to help open the h-file and then if the position deems it necessary he can play Qd2. 

It's true that in a lot of attacks on the castled king, it's typical to attack with the plan of Qd2 Bh6 then h4-h5, however in this particular position if white tries that plan Qd2 Nc6 Bh6 Qa5 h4 then white will lose a rook due to the pin on the c3 pawn. 

11.h4 

This position has never occurred according to the chessbase database. For this reason will look at some of the different moves calculated by Fritz 7 Junior 7 and ChessTiger 14.0. 

12...Bg4 

12...c4 

Pirc Defense 6...a6

1.e4 d6 2.d4 Nf6 3.Nc3 g6 4.Nf3 Bg7 5.Be3 0-0 6.h3 a6 7.a4 d5 8.e5 Ne4 9.Bd3 Nxc3 10.bxc3 c5 11.h4 Bg4

Most of us would not seriously consider this move as a way to stop white's attack; however it is the number one choice of many chess engines so we show it to demonstrate the attacking technique.

12.h5 

According to Fritz 7 calculations at depth 16 black can choose between either c4 or Qa5 to keep the game equal. Of the two it calculates that c4 is slightly better for black, however that move is not as difficult to refute as Qa5, so Qa5 will be our mainline. Here are some of the many other moves black can try:

12...gxh5 13.Qd2 Qa5 14.Ng5 h6 15. f3 hxg5 16.fxg4 c4 17.Rxh5 cxd3 18.Qxd3

12...Bxh5 13. Rxh5 gxh5 14.Bxh7+ Kxh7 15.Ng5+ Kg6 16.g4 hxg4 17.Qxg4

12...c4 13.Be2 Bxh5 14.Rh4 Bxf3 15.Bxf3 Nc6 16.Kd2

These are only some sample lines to show the common themes or how to attack the black king. As in all variations, black has many ways to try to stop white's attack on the h-file, but so far we have not found anything for him. 

12...Qa5 13.Qd2 Nc6 14.Ng5!

The threat is for white to play Nxh7 and then hxg with a double check. To counter this black must move the h-pawn.

14...h6

If black exchanges pawns and then plays this move then white can retreat to h3 and he will have an advantage due to his very active pieces.

15.Nxf7!

15...Kxf7

Black has to capture with the king to threaten to run to the other side of the board. If the rook captures the rook interferes with the kings movement.

16.Bxh6

White has another good choice here in Bxg6+. After Kg8 Ra3 white can play Bxh6 and then push the h-pawn.

16...Bxh6 17.hxg6+ Ke8 18.Rxh6

White has three pawns in return for the knight. The advanced position of the g-pawn makes the position very dangerous for black. Here are a few lines, the last favored by Fritz 7.

18...cxd4 19.cxd4 Qxd2 20.Kxd2 Rxf2 21.Ke3 Rf8 22.g7 Rg8 23.Rb1Na5 24.Kf4 Bc8 25.Bg6+ Kd8 26.Rh8 Be6 27.Bh7 Kd7 28.Bxg8 Rxg8 29.Rxg8 Bxg8 30.Kg5 with a winning advantage.

18...c4 19.g7 Rg8 20.Bg6+ Kd7 21.f3 Be6 22.Rh7 Kc7 23.f4 with a big advantage for white.

18...Rg8 19.Rb1 c4 20.Be2 Bxe2 21.Kxe2 Qxa4 22.g7 Kd8 23.Rxb7 Kc8 24.Rb2 Kc7 25.Qf4 Rae8 26.e6+ Kc8 27.Rh1 Qa5 28.Rhb1 with a winning advantage.

Pirc Defense 6...a6

1.e4 d6 2.d4 Nf6 3.Nc3 g6 4.Nf3 Bg7 5.Be3 0-0 6.h3 a6 7.a4 d5 8.e5 Ne4 9.Bd3 Nxc3 10.bxc3 c5 11.h4 c4

This and the follow up move are the number one calculated moves by ChessTiger 14.0

12.Be2 h5

This position is typical of the Pirc defense. The center is closed, black is already castled, white's pieces are aimed at the black kingside... 

13.Ng5 

Other moves like Qd2 or Nh2 allow black to undermine white's center with f6 before white can make threats against black's king. 

13...f6

If black plays Qa5 first white can protect the c3 pawn with Ra3 and then there is little the queen can do to infiltrate the queenside. 

14.g4!

Of course this was the purpose of Ng5, to sacrifice it in order to open the kingside. But nonetheless it is still surprising.

14...fxg5 15.gxh5

Black is up a piece, but no matter which pawn he captures next, white will gain a passed pawn very close the the king. This more than compensates for the piece.

15...gxh4

The attacking theme is similar if black plays gxh5 for example hxg5 Bf5 Kd2 Qd7 Rxh5 Nc6 Qh1 with a very likely checkmate or heavy loss of material for black in the next 5 moves.

16.h6 Bh8 17.h7+

17...Kxh7

Not taking the the pawn does not change white's advantage. For example Kf7 Rxh4 Ke8 Kd2 Bf5 Qh1. 

18.Rxh4+ Kg8 19. Kd2 Bg7 20.Qh1 Bf5 21.Rg1

Black can last another five to seven moves from this position. White's plan is to play Bg4 trade bishops and then put the rooks and queen on the g-file.

Pirc Defense 6...a6 

1.e4 d6 2.d4 Nf6 3.Nc3 g6 4.Nf3 Bg7 5.Be3 0-0 6.h3 a6 7.a4 b6 8.e5

Grandmaster Alexander Chernin and Lev Alburt in their 2001 book Pirc Alert! , have this to say about the advance:

White is forcing things, he's not quite ready to make this break.
They continue by citing the following game: 

8...Nfd7 9.e6 (9.exd6 =) fxe6 10.Ng5 Nf6 11.h4 h5 cxd4 13.Bxd4 gxh5 14.Qf3 d5 15.Qe3 Nc6 16.Bxb6 d4! -/+ Chandler-Gufeld 1988

Let me now use my psychic powers to relay how they came to the conclusion that "White is forcing things" with the e5 push: 

1) Alburt opens Chessbase 

2) Searches for position after 8.e5 

3) Notices Chandler (Fellow pirc player and author of Pirc Defense) is the one who played the game 

4) Asks Chandler 

5) Chandler doesn't remember loses, especially over a decade ago 

6) Alburt concludes since Chandler lost, the whole variation is busted.

It's interesting to note that that exact analysis, almost verbatim, with the mark (9.exd6 =) is in John Nunn's 1998 book The Ultimate Pirc. 

Now that we've had a laugh at some phony analysis, lets have a serious look at this variation: 

After 8.e5 black has a choice. He can exchange pawns and then play Nd7 or play it immediately.

8... Nd7 

8... dxe5 

Pirc Defense 6...a6

1.e4 d6 2.d4 Nf6 3.Nc3 g6 4.Nf3 Bg7 5.Be3 0-0 6.h3 a6 7. a4 b6 8.e5 Nfd7 

9. e6 

This weakens black's kingside and makes it more difficult for him to active and coordinate his queenside pieces as there is a pawn mass separating them. 

9...fxe5 10. Bd3 Nf6 

Avoiding this with a move like e5 leaves e6 vulnerable to tactics after Ng5. 

11. h4 

Most players would agree that white's pieces are dangerously poised to attack the black kingside and that he has enough compensation for the pawn. However most of the chess engines calculate in black's favor. Moreover we received emails questioning the strength of white's attack. Therefore we have will analyze some of those recommendations and the computers calculations below to uncover whether white has enough for the pawn. 

There are three moves which we found in this position for black that have some purpose, the are: 

11... Nh5 

11... Bb7 

11... Nc6 

Pirc Defense 6...a6

1.e4 d6 2.d4 Nf6 3.Nc3 g6 4.Nf3 Bg7 5.Be3 0-0 6.h3 a6 7. a4 b6 8.e5 Nfd7 9. e6 fxe5 10. Bd3 Nf6 11. h4 Nh5 

Normally I wouldn't consider this move for black as white can gain time with his attack with g4. Nonetheless there is a purpose to it as suggested to me. Besides stopping the h-pawn, the knight heads toward f4 where it will try interrupt whites attack. 

12.Ng5 

Now the threat is Nxh7 Kxh7 Qxh5. So black continues with his plan (what else?). 

12...Nf4 13.Bxf4 Rxf4 14.g3 (Fritz 7)

Now the rook must return to either f6 or f8 as Rxd4 gets Qf3. If black retreats to f8 then white plays 15.Nxh7 Kxh7 16.Qh5+ Kg8 17.Bxg6 Rf6 18.Qh7+ Kf8 19.h5 with a clearly winning position. Therefore black retreats to f6. 

14...Rf6 15.h5 h6 16.Nge4 Rf8 17.hxg6 Bb7 18.Qh5 Nc6 19.Ng5 Nxd4 20.Nf7 

All of blacks moves have been the number one recommended moves by Fritz 7. In most cases the moves have been the only moves to stop whites attack. Here the best black can do is play Rxf7 when he down the exchange with a bad position. If black takes the rook on h1: 

21.Bxh1 Nxh6 22.Bxh6 Qxh6 is checkmate in eight 

Pirc Defense 6...a6

1.e4 d6 2.d4 Nf6 3.Nc3 g6 4.Nf3 Bg7 5.Be3 0-0 6.h3 a6 7. a4 b6 8.e5 Nfd7 9. e6 fxe6 10. Bd3 Nf6 11. h4 Bb7 

This looks good, but only superficially. 

12.h5! 

Now Nxh5 gets Ng5 when there is no defense to both Nxh7 and Nxe6. Therefore black must play: 

12...gxh5 

Number one by Fritz 7 and the only move it considers to continue blacks advantage. 

13.Ng5 

This move highlights the weakness in moving the bishop to b7: the e6 square. 

13...Qd7 14.Nxh7! 

This is the move Fritz does not see, though I suspect it would calculate it given enough time. 

14...Nxh7 15.Bxh7 

This is the fastest win, though 15.Qxh5 is also good.

15...Kxh7 16.Qxh5+ Kg8 17. Qh7+ Kf7 18.Bh6 Rg8 19.Rh3!

Black cannot avoid serious material loss. 

Pirc Defense 6...a6

1.e4 d6 2.d4 Nf6 3.Nc3 g6 4.Nf3 Bg7 5.Be3 0-0 6.h3 a6 7. a4 b6 8.e5 Nfd7 9. e6 fxe5 10. Bd3 Nf6 11. h4 Nc6 

By now you can probably tell that this will not work. The funny thing, is that it's fun and easy to play white against black's shabby kingside. It's kind of like a tactics puzzle book. 

12.h5 

By now this is pretty standard. 

12...Nxh5 13.Ng5 Nf6 

Can you guess white's continuation? 

14.Nxh7! Nxh7 15. Rxh7! Kxh7 16. Qh5+ Kg8 17.Bxg6 Rf6 

18.Ne4 Rxg6 19.Qxg6 Qf8 20. Ng5 Qf6 21. Qe8 Qf8 22.Qxc6

After white castles queenside black can last maybe eight more moves.

Pirc Defense 6...a6 

1.e4 d6 2.d4 Nf6 3.Nc3 g6 4.Nf3 Bg7 5.Be3 0-0 6.h3 a6 7.a4 b6 8.e5 dxe5 9.dxe5 

Now black can exchange queens or play Nd7 immediately. 

9...Qxd1+ 

9...Nd7 

Pirc Defense 6...a6 

1.e4 d6 2.d4 Nf6 3.Nc3 g6 4.Nf3 Bg7 5.Be3 0-0 6.h3 a6 7.a4 b6 8.e5 dxe5 9.dxe5 Qxd1+ 10. Rxd1 Nfd7 11.Nd5 

White is threatening to take either black's e7 or c7 pawn. Black is also threatening to take white's e5 pawn. Since it's difficult to lay out a plan for either side from this position we will look at a few moves for black. 

11...Nxe5 

11...Bb7 

11...e6 

Pirc Defense 6...a6 

1.e4 d6 2.d4 Nf6 3.Nc3 g6 4.Nf3 Bg7 5.Be3 0-0 6.h3 a6 7.a4 b6 8.e5 dxe5 9.dxe5 Qxd1+ 10. Rxd1 Nfd7 11.Nd5 

White is threatening to take either black's e7 or c7 pawn. Black is also threatening to take white's e5 pawn. Since it's difficult to lay out a plan for either side from this position we will look at a few moves for black. 

11...Nxe5 

11...Bb7 

11...e6 

Pirc Defense 6...a6 

1.e4 d6 2.d4 Nf6 3.Nc3 g6 4.Nf3 Bg7 5.Be3 0-0 6.h3 a6 7.a4 b6 8.e5 dxe5 9.dxe5 Qxd1+ 10. Rxd1 Nfd7 11.Nd5 Nxe5

This leads by force to a position where white has the bishop pair, better development, and better pawn structure.

12.Nxe7+ Kh8 13.Nxe5 Bxe5 14.Nxc8 Rxc8 15. c3

As with other positions similar to this, material is equal, but the bishop pair and better development mean that white has with even average play, just about no losing chances. Black has lost the opening. 

Pirc Defense 6...a6 

1.e4 d6 2.d4 Nf6 3.Nc3 g6 4.Nf3 Bg7 5.Be3 0-0 6.h3 a6 7.a4 b6 8.e5 dxe5 9.dxe5 Qxd1 10. Rxd1 Nfd7 11.Nd5 Bb7

Most of us can spot the move in seconds...

12.e6

White can also capture the c7 pawn and get a good position but this is a little more forcing.

12...fxe6 13.Nxc7 Ra7 14.Nxe6 Rxf3 15. gxf3 Bxf3 16.Rg1 Bxd1 17.Kxd1 Bxb2 18.a5

Of course black has many different intermediate moves before this position, and you can experiment to try to save black. In this position black's can do nothing to stop white from getting a passed b-pawn on b6 after which the game will not last very long.

Pirc Defense 6...a6 

1.e4 d6 2.d4 Nf6 3.Nc3 g6 4.Nf3 Bg7 5.Be3 0-0 6.h3 a6 7.a4 b6 8.e5 dxe5 9.dxe5 Qxd1 10. Rxd1 Nfd7 11.Nd5 e6

Now white can't capture black's c7 pawn because then the knight would be trapped.

12.Ne7+ Kh8 13.Nxc8 Rxc8 14.Bf4

It's very obvious to even a beginner that white has a significant advantage due to his: space advantage, piece coordination, bishop pair, and pawn structure. 

Back to the main page
Pirc Defense 
6...a6 

1.e4 d6 2.d4 Nf6 3.Nc3 g6 4.Nf3 Bg7 5.Be3 0-0 6.h3 a6 7.a4 b6 8.e5 dxe5 9.dxe5 Qxd1 10. Rxd1 Nfd7 11.Nd5 e6

Now white can't capture black's c7 pawn because then the knight would be trapped.

12.Ne7+ Kh8 13.Nxc8 Rxc8 14.Bf4

It's very obvious to even a beginner that white has a significant advantage due to his: space advantage, piece coordination, bishop pair, and pawn structure. 

Pirc Defense 6...a6 

1.e4 d6 2.d4 Nf6 3.Nc3 g6 4.Nf3 Bg7 5.Be3 0-0 6.h3 a6 7.a4 b6 8.e5 dxe5 9.dxe5 Nd7 

10. Qd5 

There are only two moves black can play to avoid white taking his rook. 

10...Ra7 

Alternatively black can play c6. Then after Qe4 if black plays Qc7 or similar moves, then white plays e6 and black will have many weaknesses. If after Qe4 he plays e6 then white can castle queenside and launch a pawn attack on the black kingside. 

11. e6 Bb7 12.exf7+ Rxf7 13.Qb3 

Black is losing at least the exchange. 

Pirc Defense 6...a6 

1.e4 d6 2.d4 Nf6 3.Nc3 g6 4.Nf3 Bg7 5.Be3 0-0 6.h3 a6 7.a4 Nc6 

This move is a recent recommendation of GM Nigel Davies. Because of black's development scheme, he is somewhat limited as to how he can proceed after 7.a4. For example he can not play (effectively) for queenside play, so he is almost forced to look to a central break for counter play.

We have already looked at the slow method of obtaining the e5 break (c6 nbd7 e5) and it turned out poorly for black, so this represents the quicker method of getting it in. Besides supporting e5, Nc6 does very little, which makes it easy for white to plan ahead.

8.Be2 

White knows black is going to break with e5, so the best thing to do is prepare for it by finishing developing the light squared bishop to a flexible place.

8...e5

Of course black has many other moves like e6, but then black has achieved nothing outside of castling and developing a few pieces. 

9. d5 Ne7

Black could also retreat the knight to b8, but then black would have even less pressure on the center, so Ne7 is probably black's best retreat.

Black's whole position now revolves around his two pawn breaks: the pawn lever with c6 and f5. If he can obtain a successful pawn break of either one, then whites central pawns will become weak and the game will be at least equal. Accordingly white will try to prepare / prevent both of these. 

The problem is, which pawn break will black go for? Of course white cannot know, and it will depend on whites next move which break black will try to obtain. Thus, white wants to make a move that has dual purpose, and not make any weaknesses for black to try to exploit. Knowing all this, it's not to hard to see the correct move:

10.Nd2

The reason this move is difficult for black is that now white can place his knight on c4 so that if black plays c6 then d6 and b6 become weak. Moreover if black plays f5, then white can support his center with f3.

Now black has a choice. He can either try for the f5 break or the c6 break.

10..Ne8
10..c6
Pirc Defense 6...a6 

1.e4 d6 2.d4 Nf6 3.Nc3 g6 4.Nf3 Bg7 5.Be3 0-0 6.h3 a6 7.a4 Nc6 8.Be2 e5 9.d5 Ne7 10.Nd2 Ne8 

Black can also retreat to d7 with the knight, however, then d6 will not be protected so that he will not be able to play c6 as quickly. Note that this position has not occurred in theoretical games before, so in order to get ideas about play for black we used some chess engines, specifically Chess Tiger 14. From this position for example at depth 21 it calculates Ne8 as slightly better for black. 

11.g4 

On move 10 this was not a good move for white because then black could play f5 and obtain pressure on the f-file. Now however, if black plays f5 then white can support his pawns with f3, and black has no pressure on the kingside. 

Also, if white plays Nc4 first before g4 then black can play f5 and if white tries to support the pawns with f3 then black can play f4, and the resulting pawn structure on the kingside for white lets black play counterattack by pushing his pawns. 

11...c6 

Black could play f5, but that is exactly what white wants him to do, as then white can play f3. 

12.Nc4 cxd5 13.exd5 

Maintaining the central tension is another option, and if someone thinks black can be saved by it, then we will talk about it next time. 

After all this it looks as though black is ready to start an attack against the white king. However the problem is that he has had to create permanent weakness on the queenside and retreat his pieces to the edge of the board to obtain this momentary break. 

13...f5 14.Bb6 

This effectively ties up blacks pieces on the queenside. 

14..Nc7 15.Qd2 

This stops blacks last chance of counter play with Bh6. Now black literally has no good moves. White can leisurely 0-0-0 and start attacking blacks king. 

Pirc Defense 6...a6 

1.e4 d6 2.d4 Nf6 3.Nc3 g6 4.Nf3 Bg7 5.Be3 0-0 6.h3 a6 7.a4 Nc6 8.Be2 e5 9.d5 Ne7 10.Nd2 c6 

11.Nc4

It's already apparent that black will have a lot of trouble defending the weakness on b6. Notice how black's dark-squared bishop will likely never be able to help defend the dark squares on the queenside.

11...b5

Alternatives like 11...cxd5 give white a completely dominating position within five moves: 12.Bb6 Qd7 (Qe8 leaves d6 hanging) 13.exd5 Nf5 14.0-0

This leads to a fairly forcing sequence of moves:

12. axb5 cxb5 13.Nb6 Rb8 14.Nxc8 Qxc8

Black can choose to capture with the Knight on c8, but then white can play 15.b4 and he will probably lose a pawn or two on the queenside shortly. 

Black has obtained a break of sorts on the queenside, however it is a break that will come back to haunt him in the endgame. The positioning of whites bishops and the open a-file make it very difficult for Black to maintain the pawns, let alone push them. In the diagrammed position all white has to do is play f3 to stop all tactics against the e4 pawn, 0-0 and then pressure the queenside, and eventually black will start losing material.

Pirc Defense 6...b6

1.e4 d6 2.d4 Nf6 3.Nc3 g6 4.Nf3 Bg7 5.Be3 0-0 6.h3 b6

7.e5!

The position after 7.e5 is almost exactly the same as the variation 6.a6 a4 7.b6. The inclusion of a6 and a4 will not change the position enough to change the assessment that black is losing by force. Follow this link for the analysis: a6 line. 

Pirc Defense 6...c6 

1.e4 d6 2.d4 Nf6 3.Nc3 g6 4.Nf3 Bg7 5.Be3 0-0 6.h3 c6 

7.a4 

Now black can choose between four different plans.

7...Nbd7 

7...a5 

7...d5
7...b6 

Pirc Defense 6...c6

1.e4 d6 2.d4 Nf6 3.Nc3 g6 4.Nf3 Bg7 5.Be3 0-0 6.h3 c6 7.a4 Nbd7 

The purpose of this move is to support the advance of e5. Thinking prophylactically, it may seem as though we should try to prevent this. However, we do not always have to prevent the move black wants, we can prepare for it. In general, if the move your opponent wants to make creates no weaknesses, then you should first think about how to prevent it. However if you can see that the move will create some weakness, then often it is best to prepare to take advantage of this weakness in advance. Of course this is the most difficult sometimes, recognizing what will be a weakness that you can take advantage of. 

8.Be2 

Developing and waiting for black's e5 advance. 

Now black has a choice. He can either play e5 right away, or he can add another piece to support it. 

8...Qc7 

8...e5 

Pirc Defense 6...c6

1.e4 d6 2.d4 Nf6 3.Nc3 g6 4.Nf3 Bg7 5.Be3 0-0 6.h3 c6 7.a4 Nbd7 8.Be2 Qc7 

As we saw on the previous page, black does not need to move the queen to c7 to make the advance of e5. However the reason for doing so before breaking with e5 is to try to make it more difficult for white to occupy or weaken the d6 square, which becomes vulnerable after the pawns on e5 are exchanged. 

Black does not necessarily have to continue from this position and play e5, he could instead try and break with b6 and c5; but that would also take longer allowing white to prepare for it, and it would weaken the light squares on the queenside. 

9.Nd2 

The knight is headed for c4 where it can pressure the black queenside and the soon to be weakened d6 square. 

9...e5 10.dxe5 dxe5 11.Nc4 

This is an easy position for white to play. White's plan is to play Qd6 and then if the queens are exchanged, to play Nxc8 and then 0-0. Then the bishop pair, specifically the position of them against the black queenside make it hard for black to develop his pieces with any strategy. Here are some examples: 

11...Rd8 12.Qd6 Ne8 13.QxQ NxQ 14.Nd6 Ne8 15.Nxc8 Raxc8 16.Bxa7 

11...Ne8 12.0-0 f5 13.exf5 gxf5 14.f4 

in both of these variations white has a lasting pressure. 

Pirc Defense 6...c6 

1.e4 d6 2.d4 Nf6 3.Nc3 g6 4.Nf3 Bg7 5.Be3 0-0 6.h3 c6 7.a4 Nbd7 8.Be2 e5 

Pirc Defense 6...c6 

1.e4 d6 2.d4 Nf6 3.Nc3 g6 4.Nf3 Bg7 5.Be3 0-0 6.h3 c6 7.a4 a5 

One of the main problems for black in the pirc is counter-play. He develops and then tries to gain space, most of the time on the queenside; although as we have seen he also can try to make a central break. In both of these cases he faces the same difficulty, white's pieces and pawns puts pressure on his queenside; so when he tries to open it up there, he gets a serious weakness. 

In this variation starting with 7...a5, black intentionally creates a weakness (the b6 square cannot be defended by a pawn anymore) in order to try to get counter-play with his pieces. Most obviously, he would like to put his knight on the b4 square and then maybe play d5. 

Pirc Defense 6...c6

1.e4 d6 2.d4 Nf6 3.Nc3 g6 4.Nf3 Bg7 5.Be3 0-0 6.h3 c6 7.a4 d5

Grandmaster Alexander Chernin in his book The Pirc defense 1997, says the following about the move 7... d5: 

This double advance of the d-pawn might seem to be odd; but it is currently a very topical line, leading into complex and relatively less explored situations in which attack and counterattack are closely entwined.

8.e5 Ne4 9.Bd3 Nxc3 

Chernin continues: 

Insuring that black will have the better pawn structure. The pawn play is similar to that of the winawer Variation of the French Defense - Black will assail Whites d-pawn by c6 - c5 and Nc6. Meanwhile, White will try to build up a kingside attack.
The problem with this analogy is that black has already castled. 

10.bxc3 c5 11.Qd2 Nc6 12. h4 c4 (This move is advocated in Chernin's book) 

13.Be2 f6 14.h5 fxe5 15.hxg6 hxg6 16.Bh6 exd4 17.Bxg7 Kxg7 18.Qh6+ Kf6 

19.g4! (Fritz 7) 

The key to understanding this position is the realization that black's king can only seek safety on the queenside. Even though white is two pawns down, the tempo black must spend to go to the queenside will enable white to recoup them, especially the g6 pawn which will create a passed pawn that white can push easily. Moreover, even though white can do little to stop black's king from going to the queenside, black can also do little to develop the rest of his forces ( bishop and queens rook) while simultaneously seeking king safety. The end result is that white's attack will continue regardless of where black's king goes. 

The purpose of 19.g4 is to stop black from developing his bishop to f5 while gaining space, Bxg4 loses the bishop to Qg5+. There are many ways for black to continue so we will show some sample lines that many chess engines prefer for black but end up preferring white: 
 

19...dxc3 20.Rd1 Be6 (20...Nb4 21.Bxc4 e5 22.g5 Ke7 23.Qg7 Rf7 24.Qxe5 Be6 25.Nh4) 21.Qg5+ Kf7 22.Qe3 Bd7 23.Rxd5 

19...e5 20.cxd4 exd4 21.Rd1 Be6 22.Qh4+ Kf7 23.Ng5+ Ke7 24.Nh7+Kd6 25.Qg3+ Kd7 26. Nxf8 Qxf8 27.Rh7+ 

19...Ke6 20.0-0-0 Kd6 21.Nxd4 Kc7 22.Nb5+ Kb8 23.Bxc4 

19...Kf7 20.Ng5+ Ke8 21.Qxg6+ Kd7 22.Ne6 Rg8 23.Qh6 Qa5 24.Ra3 Kd6 25.Nxd4+ Kc7 26.Nb5+ Kb8 27.Rh5 etc. 

Pirc Defense 6...c6

1.e4 d6 2.d4 Nf6 3.Nc3 g6 4.Nf3 Bg7 5.Be3 0-0 6.h3 c6 7.a4 b6 

The purpose of 7.b6 is to allow black to move his bishop onto the a6-f1 diagonal and force white to exchange light squared bishops. The move is not recommended in any opening encyclopedias or pirc defense books I have ever seen. In fact, I never considered it along with its accompanying plan until it was emailed to me from a reader of this site. 

Black has many reasons to want to exchange bishops: 

1) White's bishop can help support the center, and be positioned to attack blacks kingside, whereas blacks light squared bishop cannot defended the kingside, influence the center, or (realistically) attack whites king! 

2) The more pieces he exchanges, the less weight whites spatial advantage carries. Thus bringing the game closer to equality 

What can white do to combat this plan? Surprisingly, not much. 

White can move his g-pawn and develop the bishop along the a8-h1 diagonal, but then black plays Ba6 anyway and obstructs white from castling, gaining an advantage. Therefore, white must realize that the bishops will be exchanged, and accordingly he must position his pieces so that this exchange occurs under the most favorable circumstances for him. 

Previously I recommended the plan of delaying castling and playing for a kingside attack. However, this does not take advantage of the weakness in black's plan: tIme. It's takes extra time to trade off the light squared bishops, and the movement of the b-pawn makes black's queenside more vulnerable to infiltration. Therefore a kingside attack is not the best plan. 

In order to take advantage of black's plan white must finish development and pressure black's queenside as soon as possible. Thus white must move the bishop. For coordination reasons which will become evident white chooses: 

8.Be2 

Continuing with black's plan: 

8...Ba6 9.0-0 BxB 10.QxB

This is the starting position of our analysis. Although we are almost in the middle game and there are numerous continuations black can choose from, I would like to discuss a few continuation's that Fritz 7 recommends for black. 

11...d5 

11...Nbd7 

11...Qc7 

Pirc Defense 6...c6 

1.e4 d6 2.d4 Nf6 3.Nc3 g6 4.Nf3 Bg7 5.Be3 0-0 6.h3 c6 7.a4 b6 8.Be2 Ba6 9.0-0 BxB 10.QxB d5 

The next move is obvious. 

11.e5 Nfd7 12.e6! fxe6 

Avoiding the exchange with Nf6 gets exf7 Rxf7 Ng5 when black loses the exchange. 

13.Ng5 Rf6 14. Bf4 

Now black can choose from many moves, however he cannot avoid losing the exchange. The pawns he obtains are not enough compensation. Here are a few continuations from Fritz:

14...Nf8 15.Be5 Rf5 16.g4! Rxg5 17.Bxg7 Kxg7 18.Qe3 The two pawns and knight are not enough compensation for the rook black will lose as the position is about to open on the kingside or via the e-file. 

14...Qe8 15.Nxe6 Qf7 16.Ng5 Qe8 17.Qe3 e5 18.dxe5 Rf5 19. Ne2 Black cannot avoid losing the exchange or a piece. 

Pirc Defense 6...c6

1.e4 d6 2.d4 Nf6 3.Nc3 g6 4.Nf3 Bg7 5.Be3 0-0 6.h3 c6 7.a4 b6 8.Be2 Ba6 9.0-0 BxB 10.QxB Nbd7 

11.e5 dxe5 

The alternative Nd5 leads to bad position right away: NxN cxd5 exd6 exd. 

12.dxe5 Nd5 13.e6! fxe6 14.Ng5 Nxc3 15.bxc3 Rf6 

The result of white's pawn sacrifice e6 is that black's pieces are split apart by the doubled e pawns. This lose of coordination and gain of weaknesses gives white a significant advantage. 

16.Qc4 Nf8 17.Bd4 Rf5 18.Nxe6 NxN 19.QxN+ Kh8 20.Bxg7 Kxg7 21.Rd7 

White's initiative here is such that due to black's king position white will be able to harass it for a long time making this a very dangerous position for black. In the position, black's only move to save losing the queen is Re5 but then Qg4 continues the pressure. 
In general, the position after 13.e6 offers white very good attacking chances. 

Pirc Defense 6...c6 

1.e4 d6 2.d4 Nf6 3.Nc3 g6 4.Nf3 Bg7 5.Be3 0-0 6.h3 c6 7.a4 b6 8.Be2 Ba6 9.0-0 BxB 10.QxB Qc7 

This is the best of the three recommendations by Fritz. 

11.e5 dxe5 

Black can play Nd5 first instead of exchanging pawns. After Nd5 NxN cxd5 Bf4 dxe5 Nxe5 the position is similar to the one discussed below, however here black's queenside weakness is more pronounced because white has more control over the center. 

12.dxe5 Nd5 13.NxN cxd5 14.Bf4 

The position is bad for black. He is behind in development and has weakness' in his queenside. White's plan is to play Rd1 and or Rc1 and then c4. The opening of the c and d files will make it very difficult for black to organize his pieces. Also, part of white's advantage is that he can utilize the d6 square (once black plays e6) for an attack. Black can not do this as easily or with as much effectiveness with his pawn controlled squares. 

If this is the optimum black can hope for (as it seems), the opening can be considered a bust. The structure of white's position makes it very difficult for black to organize a counterattack, as white has few weakness', moreover he must endure a positional pressure for with no end in sight. 

Pirc Defense: Back from the dead ?

Some things in life die hard: disease, religious cults, and bad chess openings; the Pirc Defense is one of those openings. Last time we gave it the gauntlet, but its back as an aborition, haunting us for a chance at life again. That's why we're going to exorcise it for good here. 

The Pirc's latest attempt for revival is the move 6...d5. I received this recommendation from a gentleman who claims it is the only road to equality for black. If the move seems odd, that's because it is! I know of no other opening where black can get equality after moving a pawn one square, and then moving it a second time within the first 10 moves. The old axiom is a good one: don't move a pawn twice in the opening. 

In the email I received, the line quoted for equality runs 6...d5 7.e5 Ne4 8.NxN dxe 9. Nd2 c5! which I can hardly disagree with. However, Nd2 blocks the queen's support of the d-pawn, therefore Ng5 is the correct continuation. 

Before we look at each sides various continuations, I want to talk a little about each side's strategies. 

Black plays d5 to make white advance his pawns. Therefore his plans will focus on attacking those advanced pawns while trying to gain the initiative by quick development. A key move for him (besides c5) is f5 since it gives support to his weakest soldier, the e4 pawn. If he is allowed to carry through with it, the e + f pawns can cause white trouble. Alternatively, if white is forced to play enpassent, then his d-pawn can become a target. 

White's plans are more complex then blacks as he must adapt to blacks methods of attack. Still, he does have some basic stratagems he would like to carry through with. Most importantly white wants to maintain the central duo d4 e5, as it severely restricts blacks maneuvering, and, he wants to make sure the e-pawn stays weak. However these are merely the opposites of blacks strategies, and therefore fairly obvious. Perhaps not so obvious is the amount of pressure that white exerts on blacks kingside. The plan I am advocating, which is I believe the only plan which yields an advantage, is linked to this pressure and is centered around whites light squared bishop being developed to c4. This has the effect that black cannot pressure d4 with his f8 rook, something which turns out to be important for his counter play. As a consequence of developing aggressively, white is sometimes forced to play the moves Nxf7 in conjunction with Bxf7. Usually this only occurs after black forces the issue (also weakening his kings defense) with the move h6. Because of white's strong center dominance and his well placed pieces, the game often ends very quickly, for black. 

Lets look at some variations, first the lesser moves, and then the most testing. 

Start the exorcision! 

Pirc Defense 6...d5

1.e4 d6 2.d4 Nf6 3.Nc3 g6 4.Nf3 Bg7 5.Be3 0-0 6.h3 d5 7.e5 Ne4 8.Nxe4 dxe4 9.Ng5 

White is now threatening to take black's e4-pawn. To deal with threat, black must either defend the pawn or make another threat himself. The only way to directly defend the pawn is by Qd5. To counter attack black must open open the position to make use of his lead in development, so the move then is c5. 

9.Qd5 

9.c5 

Pirc Defense 6...d5 

1.e4 d6 2.d4 Nf6 3.Nc3 g6 4.Nf3 Bg7 5.Be3 0-0 6.h3 d5 7.e5 Ne4 8.Nxe4 dxe4 9.Ng5 Qd5 

Pirc Defense 6...d5 

1.e4 d6 2.d4 Nf6 3.Nc3 g6 4.Nf3 Bg7 5.Be3 0-0 6.h3 d5 7.e5 Ne4 8.Nxe4 dxe4 9.Ng5 c5 

This is blacks most aggressive way to try and take advantage of white winning the e4 pawn. 

10.c3

Now black has three ways to continue the pressure on white's center:

10...Nc6 

10...cxd4 

10...Qa5 

Pirc Defense 6...d5

1.e4 d6 2.d4 Nf6 3.Nc3 g6 4.Nf3 Bg7 5.Be3 0-0 6.h3 d5 7.e5 Ne4 8.Nxe4 dxe4 9.Ng5 c5 10.c3 Nc6 

11.Bc4 cxd 12.cxd b5 13. Bb3 Bb7 14.0-0 

14...h6 15.Nxf7 Rxf7 16.Qg4 Qf8 17.Qxg6 Nb4 18.Bxh6 Bd5 19.Bxd5 Nxd5 20.Rae1 Nf4 21.Bxf4 Rxf4 22.g2 +/- 

14...Na5 15.Bc2 Nc4 16.Bxe4 Nxb2 17.Qb3 Bxe4 18.Nxe4 Nc4 19.Qxb5 +/- 

Pirc Defense 6...d5

1.e4 d6 2.d4 Nf6 3.Nc3 g6 4.Nf3 Bg7 5.Be3 0-0 6.h3 d5 7.e5 Ne4 8.Nxe4 dxe4 9.Ng5 c5 10.c3 cxd4 

11.cxd4 Qd5 12.Rc1! Qxa2 13.Bc4 Qa5+ 14.Kf1 Nc6 15.h4! 

15...h5 16.Qb3 e6 17.g4! +/- 

Pirc Defense 6...Na6 

1.e4 d6 2.d4 Nf6 3.Nc3 g6 4.Nf3 Bg7 5.Be3 0-0 6.h3 Na6 

Ian Peterson of Science News writes: "In a game of 40 moves, the number of different board positions that can develop is at least 10^120." 

This is one billion: 

1,000,000,000 

This is 10^120: 

So in a way, it's not all that surprising that after analyzing three major sub variations in the pirc defense classical II variation, there is yet another suggestion for black of how to reach equality. 

This most recent suggestion 6...Na6 was from IM Kevin Denny. The move is not new, but it has not been used in many games. In 1985 Nigel Davis played it against John Nunn. The game continued 7.Be2 c5 8.dxc5 Nxc5 9.e5 Nfe4 10.NxN NxN 11.Qd5 Nc5 12.exd6 Bxb2 13.Bxc5 Bxa1 14.dxe7 Qa5+ 15.Kf1 Re8 16.Ng5 Rxe7 and white lost shortly after. 

As the game illustrated, the purpose behind Na6 is to support the advance c5. Sometimes black must sacrifice a pawn to achieve the break, however the opening of the center gives him good compensation for this. 

Therefore, white must do something to stop c5. In order to do this white must make a forcing move. Obviously, Be2 is not forcing. There are two candidate move to try to achieve this: 7.e5 and 7.BxN. 

After 7.e5 Nfd7 white has two ways to play: 

8.e6 fxe6

But both 9.h4 Nf6 10.h5 Nxh5 11.Qd2 

and 

9.Ng5 Nf610.Qd2 

both are answered by c5 from black, and black's center pawns give him enough of a counter attack to slow whites inititive. 

Alternatively white can play a different type of gambit after 7.e5 Nfd7 8.Qd2 dxe5 9.0-0-0 exd 11.Bxd4 Nf6 

But the lack of weakness in black's position does not quite justify the pawn. And besides, black can still play c5. 

That leaves us with 7.BxN bxa6

To some of our readers this move (BxN) may come as a surprise. In many of the other variations we analyze, white uses his light squared bishop in conjunction with his h-pawn to attack the black kingside. So, why trade it for black's knight, and give him the bishop pair? Because black was going to strike in the center and this was basically the only way to stop it; but most importantly, it creates two permanently weak pawns in black's camp a7 and a6. 

The focus of the game is now not to try to attack the black kingside, but to try to take advantage of the weak pawns by attacking the queenside. In general, white wants to keep the position closed in the center. This will allow him to exploit his knights which can attack very easily black's weak queenside pawns. 

After 8.0-0 black has to decide how to challenge the center and gain more space. There are only three games in the database after 8.0-0 so much of the move suggestions for black will be of recommendations by Fritz 7 Junior 7 and Tiger 14.

8...d5 

8...Nd7 

8...Bb7 

Pirc Defense 6...Na6 

1.e4 d6 2.d4 Nf6 3.Nc3 g6 4.Nf3 Bg7 5.Be3 0-0 6.h3 Na6 7.BXN bxB 8.0-0 d5 

Based on our strategy of knight vs. bishop we would like the position to stay closed. It's true that 9.exd5 creates another weakness in black's position (c7), however it opens the position up for black's bishops and gives him good attacking chances. Therefore the next move is: 

9.e5 

Now, black could retreat the knight to d7 or e8, but the purpose of d5 was to open the position so the only logical follow-up move is: 

9...Ne4 10.NxN dxe4 11.Nd2 

This position is already quite bad for black because white can position a knight on c5 and or attack black's very weak queenside. The absence of black's dark squared bishop on the queenside will make it particularly easy to infiltrate it. 

As there are no games from this position I will end our analysis here and only give a suggestion that if black plays f5 at any time, the best move will likely be f4 as it stops his only avenue of counter play. 

Pirc Defense 6...Na6 

1.e4 d6 2.d4 Nf6 3.Nc3 g6 4.Nf3 Bg7 5.Be3 0-0 6.h3 Na6 7.Bxa6 bxa6 8.0-0 Nd7 

This move was played in a Denmark Championship in 1995. In the game white choose Qd2 and black responded with c5 and as we would expect since Qd2 did nothing to prevent black's plan, it was soon equal. So, the task is how to make both moves e5 and c5 difficult for black to achieve. Once we understand what black wants to do and that other moves by him do little to improve his position, then it is easy to find the right move to counter it: 

9.d5 

Now if black plays either c5 or e5 white will play pxp enpassant either winning a pawn temporarily or creating more weakness in black's queenside. 

9...Nb6 10.Bd4 

Black has big problems with space and pawn structure. These types of problems are almost not fixable and will persist into the endgame. After an exchange of bishops black's development deficit will be felt increasingly more, and will underscore how poorly black's pieces and pawns coordinate to gain space and attack the center. 

Pirc Defense 6...Na6 

1.e4 d6 2.d4 Nf6 3.Nc3 g6 4.Nf3 Bg7 5.Be3 0-0 6.h3 Na6 7.BxN bxa6 8.0-0 Bb7 

The purpose of this move, besides developing with a threat, is to pressure e4 with an eventual f5 break. We know this is true because if black breaks with e5, c5 or d5 white will close the center and black's light squared bishop will be shut in. 

9.Qd3 e6 10.Rfe1 

This helps support e4 and free f1 for another piece, for if the position closes the square will useful for maneuvering. 

This position after 10.Rfe1 has not been played before according to Chessbase's online database of over two million games. Therefore the moves we are choosing for each side are with the help of chess engines and are very strong, or the best continuations for each side. 

10...Nd7 11.d5 

If we do not attack e6 then black will attack e4 with f5 gaining time, and then this move will not be available, limiting white's options. 

11...e5 

Thinking back to our earlier discussion of preventing your opponents plan, it's clear that black would like to play f5 and if he is allowed to then he will have good activity. Therefore we need to prevent him from doing this: 

12.g4! 

But some will say: "It weakens the kingside." Which is true, but it also weakens black's kingside activity considerably and if that is neutralized than black's queenside will be easy for white to overwhelm with attack. 

12...f5 

Avoiding this is inevitable because otherwise white will make more preparatory moves to make it even more difficult for black to achieve latter. 

13.exf5 gxf5 14.gxf5 

14...Qf6 15.Kh2 Qxf5 16.Qxf5 Rxf5 17.Ng5 

As we can see the exchanges have not improved black's position. His pawn structure is still worse than whites and his minor pieces specifically his bishops are much worse placed than white's knights. Moreover white has better development. All these things add up to an un-enjoyable endgame approaching for black which at best he could hope for is a draw. 

Pirc Defense 6...Nc6

1.e4 d6 2.d4 Nf6 3.Nc3 g6 4.Nf3 Bg7 5.Be3 0-0 6.h3 Nc6 

With 6...Nc6 black is preparing to play the move e5. There are other plans he could play like e6 b6 and Bb7, but that setup, along with other ones he could try, is inconsistent with having a knight on c6.

Strategically, white has two ways to prepare for black's advance e5. He can allow it to happen, or he can try to stop it.

If white decides to allow e5 to happen, his next move will involve further developing his pieces. At this point, the only pieces white has not developed are his queen and light squared bishop. 

Of course white can move the bishop to e2 d3 c4 or b5, however from experience and general principles, we know that d3 and c4 are usually not useful squares for the bishop because they either allow for tactical tricks or it block whites other pieces. Moreover, on b5 the bishop makes some threats, so we will talk about that later. That leaves e2 for bishop.

After 7.Be2 e5 white has a choice of either closing the center, or castling (exchanging pawns lets black trade pieces and brings the game closer to equality). If he castles, then black will exchange pawns, and then his pieces (Nc6, Nf6, Bg7) will exert enough pressure on the center so that white will have no advantage. Therefore, that leaves closing the center. After 8.d5 Ne7

Black has two plans which white has to prepare for: c6 immediately, or Ne8 and then f5. Unfortunately it is not possible for white to adequately prepare/prevent both or those plans. And once black succeeds with one of those, white's center will come under pressure. For example, some of the computer preferences: 

9.g4 c6 10.Qd2 cxd5 11.exd5 b5! And white is in trouble

9.Nd2 c6 similar to above

9.Qd3 c6 10.dxc6 bxc6 11.Rd1 d5 12.Bc5 Re8 13. 0-0 Qc7 is equal.

Instead of 7.Be2 which we see gets no advantage, white can play Qd2, with the aim of castling queenside.

After 7.Qd2 e5

White has a choice of either castling queenside or closing the center.

If white castles queenside, then black can exchange in the center a few times and force the following position after

8.0-0-0 exd4 9.Nxd4 Nxd4 10.Bxd4 Re8 11.f3 Be6

This position is examined in A Startling Chess Opening Repertoire by Chris Baker 1998 as a transposition from a philidor defense (e4 e5 nf3 d6 d4 exd4 nxd4 g6 nc3 bg7 be3 nf6 qd2 0-0 0-0-0 nc6 f3 nxd4 bxd4 be6) defense.

Baker Writes in so many words: Whites dark-squared bishop is on the a1-h8 diagonal and therefore the thrust g4 is logical. After g4 c5 Be3 Qa5 Bh6 Bxh6 Qxh6 baker gives Bxa2 a question mark citing an old correspondence game, when really after Bxa2 h4 d5 you can see through some computer analysis that the game is unclear. 

At first glance it can be easy to over evaluate whites attack from the above diagrammed position. He is poised to play g4 h4 and h5 attacking the black king, and his dark-squared bishop is neutralizing black's dark-squared bishop as Baker also sees. 

However, the problem for white is black can also attack white's king, and although he does not have as many pawn moves started in that direction, the fact that white has less pieces to defend his king than black means that white's attacking scheme on the kingside will take a lot more than pushing his pawns to make a decisive attack, as we saw from the variations give by Baker. 

That leaves white after 7.Qd2 e5 to close the center with d5. After 8.d5 Ne7, white knows that black would like to play either c6 or f5. Previously, when white had played 7.Be2 and then closed the center, he was unable to simultaneously meet both plans. And after black obtained one of the pawn breaks, the game was at least equal. Seeing as c6 is the immediate threat, the only move that prevents c6 and is consistent with Qd2 is 0-0-0.

7.Qd2 e5 8.d5 Ne7 9. 0-0-0

Now that white has prevented c6 (at least for now), black has to look at other ways to counter-attack white's center. Tactically, black can try Nxe4, which is the move almost all the chess engines prefer. This allows black to carry through with his f5 plan. However the problem is that black's kingside opens up very quickly, and because black must spend time regaining his piece, it allows white to start an attack there. For example:

9...Nxe4 10.Nxe4 f5 11.Nfg5 fxe4 (11...f4 12.Bc5 dxc5 13.Bc4 is dangerous for black.) 12.g4! gives white a serious initiative on the kingside.

Back to the position after 9.0-0-0. Instead of playing for quick counter-attack, black can play to undermine white's e4 pawn by playing a6 b5 and then b4. Based on general principles, a typical attack on white's queenside like this would not be successful because black's pieces are split into two sides of the board. However in this case, because black has a threat of winning the e4 pawn after an eventual b4, the plan is more difficult for white to counter. 

After 9...a6 white has to choose how to defend his e4-pawn. If he protects it with his light-squared bishop, black can immediately play c6 and white's center is already under pressure. White can also try to ignore the expected attack and counterattack with g4 and then g5, however, as we might expect, this opens up lines to white's king and only stales white's attack. Thus, the only way to prepare for the attack is to move the white knight and protect the e4-pawn with the f3-pawn. 

After 9..a6 10.Ne1 b5 11.f3

It may look like black's plan has come to a halt, however he can force an attack on the white king by sacrificing his d-pawn. For example:

11...Bb7 12.g4 c6 13.dxc6 Nxc6 14. Qxd6 Qa5 and black has a quick attack on the white king, which probably more than compensates for the pawn.

So as we can see, if white waits for black to execute his pawn break e5, he cannot expect much if any advantage. Therefore we will look at how white can prevent black from playing e5.

Pirc Defense 6...Nc6

1.e4 d6 2.d4 Nf6 3.Nc3 g6 4.Nf3 Bg7 5.Be3 0-0 6.h3 Nc6 

Now that we have seen that white cannot gain an advantage if he allows black to carry through with his plan of e5, we will look at ways in which white can prevent the break. 

The most obvious move to prevent the break e5 is 7.Bf4 as it adds another defender to the e5 square. However, black's lead in development allows him to carry through with the e5 thrust and temporarily sacrifice the pawn. For example: 

7...e5 8.dxe5 dxe5 9.Qxd8 Rxd8 10.Nxe5 Re8 regains the pawn. 

Of course most of us already knew without analyzing variations, that moving the bishop again was not the correct move. But we include it in here to illustrate a common tactic involved with getting in e5. 

As for serious moves which prevent black from playing e5, white has as candidate moves 7.e5, 7.d5 and 7.Bb5. 

The pawn thrust e5 is a common tactic for white against in the pirc , as many of our readers know. However, the fact that black's last move added support to that square, makes us think twice about trying to occupy it with a pawn. Nonetheless, black must decide where to move his knight, or exchange pawns and then decide, as it is under attack. 

After 7.e5 

Black has a choice of three moves Nfd7 dxe5 and Ne8 to avoid losing his knight. Of these we can almost immediately discard Ne8 as it dis-coordinates black's pieces. 

If black plays Nfd7 white is forced into sacrificing his e-pawn by playing e6 (otherwise he will lose it with no compensation). After 8...fxe6 9.Qd2 

Many of us will recognize this position as similar to when black played 6...b6, except that now black has a knight on c6 and no b6 move. This will be in black's favor (another piece to defend), however white still has an attack after Qd2. Without analyzing many variations it's difficult to tell if white's attack will be enough to gain an advantage, however black has a better move than 8...Nfd7, 8...dxe5. After 8...dxe5 9.dxe5 Nfd7 white is again forced sacrifice a pawn by e6. After fxe6 

White has some compensation for the sacrificed pawn, but we doubt that white has any advantage, and that black will likely be able to coordinate his pieces and gain the advantage eventually. 

Instead of 7.e5 which gives white no advantage, white can play 7.d5. , the move NCO gives as giving white a slight initiative. This move does not specifically stop black from playing e5 since he can play it after he moves his knight. However, it is common for those not familiar with how to handle this opening, to attack when the opportunity presents itself. 

 In a general sense, the pirc being a hypermodern opening, black wants white to advance his pawns far up the board early on because then his setup will allow him to attack these pawns. So we should already be suspicious of such a move. After 7.d5 black can play Ne5 or Nb8. Although Ne5 is probably not so bad, we will consider Nb8. 

There are lots of ways for white to continue, for instance 8.Be2 c6 9.0-0 b5! and black is already equal. If white plays a3, then black will play a6 swap pawns, and then gang-up on white's d5 pawn. 

This leaves 7.Bb5 

Pirc Defense 6...Nc6

1.e4 d6 2.d4 Nf6 3.Nc3 g6 4.Nf3 Bg7 5.Be3 0-0 6.h3 Nc6 7.Bb5 

Comparing to all the other positions we have analyzed so far in the pirc, this is an unusual position for white's light squared bishop. Usually, white develops his bishop to e2 or d3 for use against blacks kingside and or as the most flexible spot for it. However, since black has developed his knight to c6, the nature of the game has changed, and he is no longer looking for queenside play, but for central play. Thus our strategy must also change.

Bb5 stops black from playing e5 for example 7...e5 8.dxe5 Nxe5 9.Nxe5 dxe5 10.Bc5 wins the exchange Or 8...dxe5 9.Bxc6 bxc6 gives black a very weak queenside.

In some sense this position is akin to the Ruy Lopez, except that black has not yet got e5 in. Thus, we can say already by comparison that since the Lopez gives white at least the initiative in every line, that white should also be well off here.

According to chessbase, this position has only been reached 6 times in tournament play which means much of what we will look at will be new analysis.

Let's look at some variations.

After 7.Bb5 black has many moves, but only a few that are consistent with his piece setup. Those are:

7...a6
7...Bd7
Pirc Defense 6...Nc6

1.e4 d6 2.d4 Nf6 3.Nc3 g6 4.Nf3 Bg7 5.Be3 0-0 6.h3 Nc6 7.Bb5 a6 

Now if white retreats the bishop then black will play e5, and as we have seen, he obtains an okay game. Therefore white must take the knight.

8.BxN bxc6 9.0-0 

As a result of the exchange, materially, black has obtained an isolated pawn and the bishop pair. Alone, the bishop pair is usually worth the weakness of a isolated pawn. However here there are some positional nuances which counter value the bishop pair in this position. 

All the pawns are still on the board, which diminishes the bishops use. Also, in order to make them useful, black must push his pawns. However at the moment, all his pawn moves lead to either a serious weakening or the loss of a pawn. So black must make preparations to achieve this break. This preparation takes time, and in this time, white should also be able to prepare, for black's breaks.

Before we look at variations, it's instructive to take a closer look at black's pawn structure. As we said above, black will be looking to make a pawn break as soon as possible in order to make use of his bishop pair. The question is, which break will he most likely try to make? 

Because he has doubled c-pawns, black would like to play c5, however even if he has a knight on d7 supporting it, as long as white has his dark squared bishop on e3, then black will obtain doubled and isolated pawns if he tries to break with it. Therefore, white would think very seriously before moving his dark squared bishop if black has a piece supporting this break.

Black can also break with d5.Of course most of us already know this is a bad move, but white has to prove it as always. For example, if black plays 9...d5 in the last diagram, after e5 Nd7, white can get a large advantage by playing Na4. The point of this maneuver is that if black tries to counter white's center with f6 then white can play e6 and when the knight moves, play Nc5 with a big advantage. Similarly, if black tries to exchange knights, with Nb6, white can play Nc5 and then Nd3, which makes it very difficult for black to play any pawns moves without serious loses or more weakening. This type of maneuver with the knight is a typical way take advantage of black's pawn structure after d5.

Almost always, if black play e5, then white will want to exchange pawns and pieces on e5 because the resulting pawn structure will either cause black more isolated pawns, or allow white to play f4 and use his e4 f4 duo to attack black's kingside.

Finally, black can break with f5. Usually, if black has played it early on, white will want to exchange pawns. The reason for this is that by exchanging pawns, black will either have to recapture with his Rook or g-pawn. If he recaptures with his g-pawn, white should look at playing the maneuver Ne2-f4. The isolated h-pawn will make it easy for white to invade the kingside. If black takes back with the rook, white can try to take advantage of black's weak e-pawn. These are just guidlines and anything can happen to change your strategy. However if you are familiar with these nuances it will be much faster looking at variations during the game. 

One last note about the f5 advance. If white has his bishop on e3, he must be careful about allowing black to play f5-f4 because this will remove white's bishop from influence over the c5 square and allow black to play c5 without incurring doubled pawns. 

After 9.0-0 we will consider the following moves for black:

9...Nd7
9...Rb8
Pirc Defense 6...Nc6

1.e4 d6 2.d4 Nf6 3.Nc3 g6 4.Nf3 Bg7 5.Be3 0-0 6.h3 Nc6 7.Bb5 a6 8.BxN bxc6 9.0-0 Nd7 

10.Qd2

We mentioned before that if black can support the advance of c5 then white does not want to move his bishop from e3. However, if black moves his knight, then at the right moment white can exchange bishops and or then play b4 makign it difficult to play for the break.

10...Nb6 

If black play's e5 here the simplest way to get an advantage is 11.dxe5 Nxe5 12.Nxe5 Bxe5 13.f4.

After Nb6 black is prepared to break with f5 or play Nc4. Therefore to stop both of these white exchanges dark-squared bishops.

11.Bh6

Black is already in a difficult position. For example:

11...f5 12. Bxg7 Kxg7 13.e5 dxe5 14.Nxe5 gives black no compensation for his isolated queenside pawns.

11...f6 (computers preference) 12.b3 e5 13.Bxg7 Kxg7 14.Ne2 leaves black with difficult long term problems for example weak squares around the king, isolated a-pawn and pieces that will not coordinate well.

These are just a few sample lines, but it illustrates black's hard to solve problems.

Pirc Defense 6...Nc6 

1.e4 d6 2.d4 Nf6 3.Nc3 g6 4.Nf3 Bg7 5.Be3 0-0 6.h3 Nc6 7.Bb5 a6 8.BxN bxc6 9.0-0 Rb8 

This is many of the computer's preferred move. Sometimes it good to provoke the advance of the b-pawn when black has his dark squared bishop fianchetted, however in this case, it only helps white start his pawn's from setting up a strong center. 

10.b3 e5 

Of course there are others, and better moves, but this the move again most of the chess engines prefer. 

11.dxe5 Nd7 

Now we can understand a drawback of b3. If white takes the d6-pawn, black wins the knight on c3. 

12.Bf4 

The reason for this move is to make it difficult for black to recapture without incurring doubled pawns. 

12...Nxe5 13.Nxe5 dxe5 14.Be3 

Because of black's isolated a-pawn, black will have a difficult time defending it from the maneuver Na4-c5 and Qe2. 

Pirc Defense 6...Nc6 

1.e4 d6 2.d4 Nf6 3.Nc3 g6 4.Nf3 Bg7 5.Be3 0-0 6.h3 Nc6 7.Bb5 Bd7 

The threat behind Bd7, is to play a6 and then if the bishop retreats, to play e5. Most of our normal readers will already know how to counter this, the key being that black has blocked the d7 square. 

8.e5! 

Now black has two choices 

8...dxe5 

8...Ne8 

Pirc Defense 6...Nc6 

1.e4 d6 2.d4 Nf6 3.Nc3 g6 4.Nf3 Bg7 5.Be3 0-0 6.h3 Nc6 7.Bb5 Bd7 8.e5 dxe5 

At first glance this would look like a bad decision by black as the f6-knight does not have a good retreat square to go to.

9.dxe5 Nxe5!

This tactic is very unexpected and would probably be thought a blunder by most players. Of all the analysis engines only Junior found and favored this move. 

10.Nxe5 Bxb5 11.Nxb5 Nd5

Now we can start to understand this tactic. 

· White's knight on e5 is under attack and when he moves it black's bishop will pressure white's b2-pawn. 

· Black can drive back white's b5 knight with his pawns and gain time. 

· Black will be able to create a dark-squared weakness in white's kingside after he takes white's e3-bishop. 

From this position white has four squares he can retreat his knight too. Interestingly enough, if you use a chess engine to calculate the correct square for the knight, you will get some very different evaluations. For example at depth 17 Fritz 7 calculates 12.Nc4 with a score of 1.14 in white's favor. Chess Tiger 14 at depth 16 calculates 12.Nf3 with a score of 0.94 in white's favor. Shredder 6 depth 15 calculates 12. Ng4 with a score of 0.97 in white's favor. Crafty 19.03 at depth 14 calculates 12.Nf3 with a score of 0.68 in white's favor. Junior 7 at depth 18 calculates 12.Nf3 with a score of 0.24 for white's favor.

The point being that calculation alone obviously does not get you very far in this position. Most players would not bother calculate for hours, and instead use their intuition as we have here. 

Before we consider the best move, lets look at some of the computer's calculated moves so that you don't waste your time trying to prove them correct.

Fritz 7 12.Nc4 a6 (not part of the anticipated moves) 13.Nd4 c5 14. Ne2 (Nf3 b5 Nce5 Qd6) 14...b5 15.Nd2 Nxe3 16.fxe3 Bxb2 17.Rb1 Bg7 is calculated as about nine tenths of a pawn but is actually about equal due to the big weaknesses in white's pawn structure the fast mobility of black's pawn's, and the better potential for black's rooks.

Junior 7, Chess Tiger 14 and others, 12.Nf3 c6 13.Nbd4 e5 14.Bg5 Qa5+ 15.Bd2 Qa4 may be better for black!

This leads us to the move we choose based on some obvious principles. Back to the last diagram:

Now that we know black's intentions somewhat, we know that the b2-pawn will be under pressure and that white's knights will be harassed by black's pawns. Thus we want to protect the b2-pawn and retreat our knight to a square which it will not be chased by a black pawn. Most likely, almost all chess players would choose this move based on the fact that it covers the b2-pawn: 

12.Nd3 Nxe3

Black can also try 12...c6 13.Na3 Nxe3 (13...e5 14.c3 ) 14. fxe3 Bxb2 15.Nxb2 Qa5+ 16.Qd2 Qxa3 17. Nd3 is a big advantage for white.

13.fxe3 Qd5

14.Nd4 e5 

Black can also trade his dark squared bishop here with 14...Bxd4 15.exd4 Qxg2 Now instead of defending his h3 pawn with Nf2, he can give it black in order to finish development with 16.Rf1! Otherwise on 16.Nf2 black can open the game with e5 and he has enough compensation. After 16.Rf1 Qxh3 17.Qf3 black is almost forced to exchange queens then black will have three pawns to blacks piece. But the fact that there are other pawns on the board, that white's king can help stop the black kingside pawns and that white's rooks will be able to make threats against the black king with the help of the knight all add up to a winning advantage for white.

15.Nb3 Qxg2 16.Nf2

Black has two pawns for the piece, and pressure on white's kingside. Interestingly, junior 7 at depth 19 calculates a score of 0.75 better for black after f5.

From this position black as a lot of different ways to try to pressure white's kingside, specifically the dark squares. However being a piece down for that pressure turns out to not be enough. Here are some samples lines:

16...Rad8 17.Qg4 Qc6 18.Qe4 makes it difficult for black to avoid a queen trade, after which the extra piece will make the game an easy win.

16...f5 17.Qe2 Rad8 18.Nd2 f4 19.e4 f3 20.Qe3 Rxd2 21. Qxd2 Bf6 22.Qd5+ Kh8 23. Qc5 and now white is on the attack!

16...Qg3 17.e4 f5 18.Nd2 Bh6 (18...Rad8 19.Qf3 ) 19. Nf1 Qf4 20.Qe2 fxe4 21.Rg1e3 22.Ng4 Rad8 23. h4 Gives white a good advantage. This last variation with 16...Qg3 is the most difficult for white to convert into a win because the queens stay on the board and white's king in the middle. The formation with white's knights on d2 and f2 and whites queen on e2 gives his king protection and also most importantly keeps black's pawns from advancing too far. With precise play white should be able to follow up with Rd1 and or Rg1 in most lines and trade pieces reaching a good endgame.

Pirc Defense 6...Nc6

1.e4 d6 2.d4 Nf6 3.Nc3 g6 4.Nf3 Bg7 5.Be3 0-0 6.h3 Nc6 7.Bb5 Bd7 8.e5 Ne8 

Sometimes we like to sacrifice the e5 pawn (by playing e6) because it is difficult to defend and it gives us targets to attack. In this position though white can support the pawn, and doing so makes it difficult hard for black to develop.

9.Bf4

It's already hard to come up with candidate moves for black. For example: 9...f6 10.e6 Bxe6 11.d5 loses a piece.

9...Nb4

Or black play a6, then BxN BxB d5 Bb5 a4 Bd7 0-0 gives white a sizeable space advantage.

10. Bc4 

Trading bishops lets black organize his pieces better. 

10...Bf5

This was the purpose of Nb4, to pressure c2. Ideally, black would like to trade pieces on e5 and then queens and win a pawn on c2.

Black could also play c5 here. Then 12.dxc5 dxe5 13.Bxe5 Bxe5 14.Nxe5 Qc7 15.Qe2 gives white a strong initiative.

11.Bb3 dxe5

12.dxe5 Qxd1+ 13.Rxd1 gives white a space advantage and piece advantage. Notice that Bxc2 Bxc2 Nxc2+ Ke2 Nb4 Rd7 white gets strong bind.

Pirc Defense 6...a6

1.e4 d6 2.d4 Nf6 3.Nc3 g6 4.Nf3 Bg7 5.Be3 0-0 6.h3 e5

In all, we could find 46 games with this position (some involved computers). Of those games white won 23 games (50%), drew 11 (24%) and lost 12 (26%). 

From the above position, It may seem as though white can win a pawn after 7.dxe5 dxe5 8.Nxe5, however black can then play 8...Nxe4 and if then 9.Nxe4 then 9...Bxe5 makes the game equal. 

Although white cannot white a pawn, he can cause black to make some serious concessions either in piece placement or in pawn structure.

7.dxe5 dxe5 8.Qxd8 Rxd8 9.Bc4

Already white has a number of advantages which anyone can see: His minor pieces are completely developed and better placed than blacks. He has no weaknesses, compared to black (f7 and e5). And he has not castled which gives him more options.

In the above position white is threatening to win black's e5 pawn. There are two ways black can defend it that do not lead to immediate or eventual material loss Nc6 and Ne8. However Ne8 is a pitiful retreat which will accomplish only prolonging an inevitable attack, thus the only move is:

9...Nc6 10.Ng5 Rd7 11.Bb5

This position has occurred in games before and is even in the Fritz 8 opening book. Above, white is threatening to give black doubled and isolated pawns on the queenside. Unfortunately for black he cannot stop this. On almost every move black plays, white's next move will be Bxc6. Then after bxc6 white need only to play for an endgame where black should have difficulty making the draw.

